Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C300014 Date:25/05/2016

Subject Name: Basic of Electrical and Electronics Engineering

Time: 02.30 PM TO 04:00 PM Total Marks: 70

Instructions:

1.  Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic,
No. | Question Text and Option, Y4 sl [Ascl.
Unit of power is

1. | A Watt B. Volt
C. Ampere D. Ohm
wd? ol Ylle g B.

. |A e B. | cee
C. [l D. | aQlen
Hysteresis is graph between

5 A Flux and current B. Voltage and current

| C Magnetic field strength and D. Current and resistance
flux density
BrRu 58 d scldlélel wdun &2
A | seal Wl Yals B. | dl@w wel yals

2. -

C | NooRs Bes wau uad seat | P | yae ual ARy
SRR
What is the function of a Resistor?

3. | A To increase the current B. To generate the current
C. To oppose the current D. None of above
UcRAY of st g B2

3. [A |52 aurdl B. |52 wolladl
C. |s2e Asd D1 As we o
Specific resistance is measured in

4. | A Mho B. ohm/cm
C. Ohm D. ohm - cm
AlssA el AML HvcuMl 2ud 8 2

¥. |[A [ B. lallen / AR
C. [2llen D allen . AR
Flux is the equivalent of which electrical term?

5. | Al Current B. Resistance
C. Conductance D. Voltage
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scal A (Ao URUUHUL Sloll B &2

WA [ s2e B. 1 3¥3ee
C. [ssseu D. | Qe
Factors affecting resistance is/are

6. | A Length of conductor B. Type of material
C. Area of conductor D. All of the above
URAUA AUUR 5cll URBnal /uRoLo

5. |A | aes ol dus B. | cugs el usiR
Co | cugsetl 2038t Axtsm Do T ala e
The unit of current is

7. | A Ohm B. Ampere
C. Volt D. Mho
§22 oll AsH 8.

9. | A |l Bl allae
C [ 18l
Resistance of 200 W, 250 V lamp will be

8. [A [6250 B. [312.50Q
C. 12500 D. [31.250
200 W, 250 V oll AU oll AcRA 9 U?

¢. |A |suQ B. 1392w 0
C. [1uwo 0 D. 1392w 0
Unit of flux density is

9. |A. Ampere/mm? B. N/m?

C. Weber/m” D. AT/m
sctel SR ol Asu g B2

e |A |ARwR 7 A Bl oyeat / ofl?
Clawz / ARu3. 2ol / B
What is the function of capacitor?

10. | A Charging & discharging B. Generating & increasing
C. Generating & decreasing D. None of above
$URI2Re] st g B2

10. [A [ weflo wal Barueflol B. | detlag wal uelsq
C |dotag ua auirg As uRL o3
Unit of electric charge (Q) is

11. | A. Ohm B. Coulomb
C. Tesla D. Ampere
s8AGESs ULl AsH g B?

e, | A | e B. | gdu
C. [2uean D. | AR
If two resistors of same value are connected in series then equivalent resistor is

12. | Al Double B. Half
C. Triple D. Not Possible
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ol ol Uil Acell AReR ARl ABA dl vlotcdl 02 lad

2. | A |wuel B. | usal
C. 2w 2wl D. | os ool
The unit of an Inductor is
13. | A. Ohm B. Mho
C. Ampere D. Henry
65522 ol AsU 87
Q3. [A | 21eH B. |l
C.  [AGAuR D. 134l
Property of material which opposes the production of magnetic flux in it is known as
14. | A. Permittivity B. Permeance
C. Reluctance D. Mmf
welgdell ot el v{20ld d selsel Geur dloll [l 53,
¥, | A [ uBR[@4 B udlain
C[fasen D. 1A Au. As,
Relative permeability pr of diamagnetic material is
15. [ A. Less than 1 B. Equal to 1
C. Zero D. Greater than 1
stalxlZs uetdl ofl AR a WA AR pr 32l B2
o, | A |4 sl 20l B. |q
C o D. | q sl au®
At constant temperature ratio of voltage to current is known as
16. | A. Reluctance B. Conductance
C. Permeance D. Resistance
UYL cluHlal Al U 522 ol ol A g 5& &2
1. [A | dlaseud B. |ssseu
Co [ walleiat D. ey
The RMS value of sinusoidal voltage wave v = 200sinwt, is
17. [A. [141v B. [200V
C. [100V D. |28V
ASARNSUBauA ARy A9 v =200sinwt ol WRAHAY YU g B?
. [A |y B. l200v
C. Jaoov D Jacrv
What is the mmf in a 150-turn coil of wire with 2 A flowing through it?
18. [A. [300AT B. [75AT
C. [150AT D. [600 AT
U0 2ol ol slsciell R A 522 R W & dl dxl AH AU ol Ay g
&4.
1.
A. 1300 AT B. oy AT
C |auo AT SO0 AT
19 What is the function of Transformer?
" |A [ACtwAC |B  |[ACtoDC
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C |DCtoAC |D | All of above
2LUSRUR of st g B?

1e. | A |AC o AC B |ACe DC
C. |pce AC AL oLy
The transformer works on the principle of )

20. | A Self-induction B. Electric formation
C. Mutual induction D. Multiple induction
2lUslRUR 52l Rgld U st 53 89

0. | A | Acs Bo55UeL B. | sdl2s slaHet
C. | 1ue sessust D. | y@ud 8es5ust
For an AC system an inductive reactance is given by .

21. | Al Rc = 2xfC B. XL =2afL
C. Xc = 1/2afC D. None of above
AC Rren 1R 8o55Rc Ruseu g &l B2

1. | A Rec = 2afC B. X1 =2mfL
The transformers are rated in :

22. | A KVA B. K1
C. KV D. Ampere
2LUSRUR of 22l HL L B,

. [A. [Kva B. [KI
C. KV D. Ampere
For an AC system a capacitive reactance is given by )

23. | A XL =2xnfL B. Xc = 1/2afC
C. Rc = 2xafC D. None of above
AC Red w2 30{Ra Rauseu g sl 87

23. LA X1 = 2xnfL B. Xc = 172xfC
C. Rc = 2xafC D. None of above
For an AC system in which frequency is 100Hz, periodic time is milliseconds.

24, | A. 20 B. 5
C. 10 D. 50
A kel 100Hz (A & ol Aol wiadasia Ml Ases B.

R TA. J20 B. |5
C. 10 D. 50
Frequency ( f ) can also be measured in )

25. TA. Meter per second B. Ampere per meter
C. Cycle per meter D. Cycle per second
gl (f) HL WeL Hul 8.

U A | ReR / Ades B Afur 7 Me
C. Alase / Mer UAUSEH / ASoS
T and f are related by

26. | A. T=F B. f=T/2
C. T=1/f D. None of above

4/11




T el f Ad Asoudel 8.
:s. [A. [T=f B. [f=T1
Which of the following quantities are same in all parts of series circuit?
27. | A Voltage B. Power
C. Current D. Resistance
ol Aotl el AR UFaul dArid GUONHL g UMLel sla B?
9. | A | Ay B. e
C |y D | ycdu
Magnetic field required to reduce residual magnetism to zero is called
28. | A Retentivity B. Saturation magnetism
C. Coercivity D. Hysteresis
ARsYUA RRAM ol got sl vUell uscll AR5 (3esa g 58 .
. | A |RERER B. 1 axyduet Aoaldlon
C. | sl D R
Standard frequency for ac power in India is
29. | A. 50 Hz B. 25 Hz
C. 60 Hz D. 40 Hz
QURcl ML AC WaR M2 (Bsdl eiss sy 82
*C¢. [A. [50Hz B. [25Hz
C. 60 Hz D. 40 Hz
RMS value of AC current is given by
30. [A. [0.5 Ema B. [ Ima/ V3
C. Imax/ V2 D. Imax
ezl yausell R AMAY dey 8.
3 O A 05 Emax B. Imax/ \IS
C. Imax/ \/2 Finax
Form factor for alternating quantity is
31. | Al 1.2 B. 2
C. 1.11 D. 2.44
ulee Bl saiélR ol si 3522 .
3. [A. T12 B. |2
C. 1.11 D. 2.44
Power factor in any ac circuit is given by
32. | A VIsin® B. VI cos@
C. VIitan® D. None of the above
Al usle ol war ¥se? 0.
3. | Al Visin® B. VI cos@
C. Vitan@ D. A5 uel odl
For purely resistive circuit phase difference between voltage and current is
33, | A 90° B. 45°
C. 60° D. 00°
96 UlARY U2 R Al el yYele oll 3% csleld
33. [A |90 2 B 1452l
C. |60 2ia D 1o 2ia
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A current is said to be direct current when its

34 A. Magnitude remains constant B. Magnitude and direction changes
) with time with time
C. Magnitude changes with time | D. Direction changes with time
Ycllgal SlaARse Yclls Secllal AR .......
A [ lid wHa WA de 3 | B | Sl uel dlan uHa @
3¥.
WEELRL
Co |l uHa w@ aecar | D | amer wd €l seeta
Unit of frequency is
35. | A Tesla B. Weber
C. Second D. Hertz
gl dl A5 B,
3w, | A | Bual Bl auz
C|ass D ] eéa
For purely inductive circuit the phase difference between voltage and current is
36. | A 0° B. 90° Lagging
C. 90° Leading D. None of the above
96 B55Rcl ulBe w2 dlcdos wal Yl oll 5823 dscld
36, | 9o B. | co 2ia I3l
C. |eo 2ia @0t D. 1 3s ug oél
Which electromagnetic device uses brushes and a commutator?
37. A A speaker B. A solenoid
C. A relay D. A dc generator
56 8AsANXRs Slasyu HL ¢l wal 5022 ol Guallol w B,
30. | A | adlls? B. ] Ad-Ass
C.1da D. IR wot2e?
The arrow in a transistor symbol indicates the direction of current in
38. | A Collector B. Emitter
C. Base D. None of these
glodflerul IR of oflauet yeus ofl (o su etotl Jud 8.
3¢. | A | sAseR B. | Afe:
C. |am D135 gl ol
Pentavalent impurities are
39. | Al Donors B. Both
C. Acceptors D. None
Yalade gl g 82
A et B lua
3¢,
Co | eellsizenR D188 o3
is a safety wire which protects us from electric shocks and electric
40 fire.
T AL Earth wire B. Neutral wire
C. Live wire D. Fire wire
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SAEES wiUSL vel BAGES oL ol wuldl el 52 8.

¥o. | A | aw B. | pet ala?
C. |opdd awa? Dl slae awe
What is the full form of MCB?
41. | A. Miniature coil breaker B. Mounted circuit board
C. Minimum cuarrent board D. Miniature circuit breaker
MCB of Y3 ollH g 8°?
¥q. [A |ARAU slscl Ads: B. HIGes ulFe olls
C. | AR s22 oll§ D. |QARAAu ufe ds?
If two capacitors C1 and C2 are connected in parallel, then total capacitor C=
42. [A. C=C1-C2 B. C=C1 +C2
C. C=Cl=C2 D. C=C1 X C2
ofl ol 30122 C1 wal C2 WReelHl 3cl sl dl 2laet 3udle: C= .
¥R [ A C=C1-C2 B. C=C1+C2
C. C=Cl =C2 D. C=C1 X C2
The charged capacitor can acts as a
43. | A Voltage source B. Inverter
C. Rectifier D. None of above
aled 3Ulez dR3 st sR B B.
¥3. | A adledes Al B. Socl22
C. [¥eesar D. | Qs ya o3
What type of impurity can be added to make P type semiconductor?
44. | A. Acceptor and Donor B. Acceptor
C. Donor D. None of above
Yl elsu AMlses522 dollaal 58 SHRlIAR GH 82
- Ao [ 2ellslelR el £l B. x{ls12e112
C | et D 1 Asue @
What type of impurity can be added to make N type semiconductor?
45. | A. Acceptor and Donor B. Acceptor
C. Donor D. None of above
ol 215U AHse5522 olellaal 56 SHRUIAR GHAU 82
- A | lslrellr Wl el B. | xllstreuR
C | et D | Asug ol
Diode is working as
46. | A. Wire B. Switch
C. Voltage source D. None of above
stals A3y 514 52 .
¥s. | A LR B. RAu
C. | Qe Al s22 Al
How many diode in full wave rectifier?
47. | A. One B. Four
C. Two D. Three
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setdol WseslAR L Z2cll SLAlS durA 8?

¥o. | A [As B. R
is main part of AC motor.
48. | A. Stator and rotor B. Inductor and diode
C. Stator and transistor D. Stator and tube
A Hlerell Yyl el 8.
¥e. | A [ReR ua AeR B. | Sos522 ual sLals
C e ud alERe? D@22 el yut
In which region transistor is working as amplifier.
49, | A. Active B. Saturation
C. Cut-off D. All of the above
2leBre? sal Roflast 1L Arucllgtaz (3% sid 52 B.
¥e. |A AR B. 1 ARt
C. |se s Do el ol o
The direction of rotation of a DC motor can be reversed by
50. [ A Changing the supply polarity B. Reversing the armature connection
C. Reversing the field connection | D. None of above
SlAl HleRuu wedclll Qe €launt < asia 8.
wo. | A | et WeudlR B | aifuren wlswel
C. | fleso wslsieL D. 1 as ua o
In which region transistor is working as ON switch.
51. | Al Active B. Saturation
C. Cut-off D. All of the above
2l sal Roflatst 1L ulet (U A3l3 51 5% B.
u (A | AR B ] QxyRaet
C. [se2s Do | e ot %
The direction of rotation of an AC motor can be reversed by
52. | Al Changing the supply polarity B. Reversing the armature connection
C. Reversing the field connection | D. None of above
A Hl2:HL wecalll Qe elaunt < asia 8.
wR. A | et el B aifuren wlswel
C. | flesow wslsieL D. 1 Qs ug o
Resistance of forward bias diode is greater than the reverse bias diode.
53. A Right B. Not always
C. Wrong D. Don’t say anything
slrals ol stalls oll a5l o oy Stlls sl dud gl B.
w3, |[A |y B e o3
C [ulg D. 1 g8l sl asta
In which type of capacitor negative and positive polarity is there.
54. | A Ceramic B. Electrolytic
C. Carbon film D. Metal film
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sall 2lUell 3UleHL AR e wal WARa Wi sla B2

wy, A | Radls B. | sdsglaadls
C. | stolet flen D. | ded $led
Which signal are not pass from capacitor?

55. [ A Sine wave B. Square wave
C. DC D. All of above
3Ule? sal d2olel AR ddl Edl «12ll?

yu, [A | wseldd B. A
C. |IGA D. | Guz ol el
What does LED stand for?

56. | A Light Emitting Display B. Low Energy Display
C. Light Emitting Diode D. Light Emitting Detector
Al Aed 92

us, [A | cuge AR Bud B. | dl el Brud
C. clese AL stals D. cuee ANl 2sez
If 1.1=4 H, 1.2=5 H are join in parallel and mutual inductance between them is 2 H

57 than total inductance is

- [A. 32H B. 20H

C. SH D. 100 H
ol L1=4 H, L2=5 H URAAHL %lsclil el d olal oA 122 Solsséu 2 H 8la
dl 2leel Sos5201 At .

wa.
A. 3.2 H B. R0 H
C. U H D. 100 H
If R1=5Q, R2=2Q are join in series than total resistance is

58. | A 50 B. 20
C. 100 D. 70
ol R1=50, R2=20 {341 wlscilHl 24l 2led +UcJAY R 2l

we. | A |ua B. 20
C. lqoa D. |oq
‘What is the full name of LDR?

50, | A. Light dividing resistor B. Light dependent resistor
C. Line deriving resistor D. Least durable resistor
LDR of 3y olld g &7

e, | A dlse Bl 2(Rez B. Az Buse (Rze?
C auta Slassdlol 3@ [@Are syRud e
Which is the given symbol? _‘\4_

60 u

" A Varector diode B. Photo diode
C. LED D. Tunnel diode
(et ollaell 58 awsu ol D,  — o —

s0. /

A | Qs stals B.

slel stals
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C. Acsdl D. | ase stels
Which is the highly conductive metal?

61. | A Aluminium B. Copper
C. Zing D. Tin
AL veldniell Qell aru ARl cuss uelsl sl 82

s1. | A | Aeylollan B ldugy
C | dAls D Ao
Luxmeter used to measure which quantity?

62. | A Intensity of light B. Flux
C. Mmf D. Speed of machine
daHledl Gualol 58 salleRdl Miucl {2 e 87

s2. | A |usia ol dladl B. scs8l
C |AnAuAs D | yslletell atcll
For forbidden energy gap 1 electron volt 1s equal to......

63 A 2.7%10° J B. 1.6%10™ J

|G [1ex10 0y D. 1y
slRe{lset Aoty AU 1 BASoL clee WRAR 32l Al B2
<3 A | 2.7%10° B.  l16x10™
C. 1.6x10™y D1 ya
How many terminals in SCR

64. | A. 2 B. 1
C. 3 D. 5
SCR o 32cll BsL &lal 87

cy. | A 2 B. 1
C. 3 5
What is the use of SCR?

65. | A Variable speed drive B. Switch
C. Protective circuit D. All of above
o{lAstl 112l SCR ol Gulol AHL W B?

su, |A | AdAue 2dls sisd B. | flu dR3
C. U2sdla uFaul GURell vkl
What is the full form of ELCB?

66. | A. Earth leakage coil breaker B. Earth leakage circuit board
C. Earth leakage current board D. Earth leakage circuit breaker
ELCB of 3y olli

ss. |4 | @3 slset ds? Bl @3 uBe Al§
C. el @3 522 als? wdl @A¥er uBe as?
Which is not a mode of 555 timer?

67. | A. Monostable B. Astable
C. Metastable D. Bistable
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ofl Aol HI2ll 555 2l8HR ol Hls sall olell?

sa. [ A | dellRua B. 1 dRua
C.  [nedlRaa D. | aaruad
If ratio of transformer K >1 then which is that transformer?
68. | A Step-up B. Isolation
C. Step-down D. None of above
ol glodslrAalel oll JJRllR K > 1, 8lal «ll d 53 2lousl{ &dl?
s¢. | A [Ruuu B. | ausdldust
C. | RuslBel D. | Qs ual o3
Which of the following is not an application of fuse
69. | A. Bus-bar protection B. Leakage current protection
C. Induction motor protection D. Earth fault protection
o{lAotl el 53 st 5y HI2 @ld] usd aell?
se. | A | du-olR UW2salel B. 1 elldr s22 UlRsalet
C | dle? Ulsatet D. | glee Wsaet
MCB generally used for
70. | A Over load protection B. Both A and C
C. Earth leakage protection D. None of the above
Aol oll Guallol sell sz &2
90. | A |llar dls Uldsalet ML B- lauad B ud
Co e clder W2satet uL As uel o

s sk ok Heslek sl skl Rk sk R
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